16" Seat and Arms




16" Seat and Arms

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 1117008-NLA | NLA - Seat Assembly, Grey (16" W) 1 1
2 CD 1116977-NLA | NLA - Kit, Arm Assembly with Seat Pivot (16" Wide 1 1
Seat)
3 NLA - Pivot, Seat 1 1
4 Washer, Steel (5/16 x 1-1/4 x 1/16") 1 4
5 NLA - Screw, Hex Head w/Patch (1/4-20 x 1-1/8") 1 4
6 NLA - Bushing (1/4 x 3/4 x 1/2") 1 6
7 NLA - Arm Assembly, Flip-Up, Black - Right 1 1
8 Knob, Adjustment, Black (5/16-18 x 3/4") 1 3
9 NLA - Arm Assembly, Flip-Up, Black - Left 1 1
10 NLA - Bracket, Arm Support 1 1
11 Washer (1/4 x 1/2 x 1/16") 1 6
12 NLA - Screw, Hex Head w/Patch (1/4-20 x 1-3/8") 1 6
A,B 1070553-NLA | NLA - Screw, Phillips Pan Head (#10-32 x 5/8") 1 4
13 E 1114228-NLA | NLA - Arm Assembly, Flip-Up, Black - Left 1 1
13 1137221-NLA | NLA - Arm Assembly, Flip-Up, Black - Left 1 1
14 1116976-NLA | NLA - Arm Pad Assembly, Desk Length with 1 1
Hardware - Left
15 1114910 Knob, Adjustment, Black (5/16-18 x 3/4") 1 1
16 E 1116906-NLA | NLA - Tube, Lower Arm - Left 1 1
16 1113647 Tube, Arm, Lower Adjustable Width, Black - Left 1 1
17 E 1114227-NLA | NLA - Arm Assembly, Flip-Up, Black - Right 1 1
17 1137220-NLA | NLA - Arm Assembly, Flip-Up, Black - Right 1 1
18 1116975-NLA | NLA - Arm Pad Assembly, Desk Length with 1 1
Hardware - Right
19 E 1116905-NLA | NLA - Tube, Lower Arm - Right 1 1
19 1113646 Tube, Arm, Lower Adjustable Width, Black - Right 1 1
NOTE: A - Not Shown.

B

E

- Screws to attach Arm Pad.
C-ltems7 &9, 13 & 17 Arm Assembly Includes: Items 14 & 18 (Arm Pads) and item 15 (Adjustment Knobs).
D - Includes: Items 2-12.
- Due to style change, Arm Rests need to be replaced in pairs. Order 1 ea. of 1137221 Left and 1137220 Right




